Exam 3   Summer 2017

Name_______________________________________________  Seat Number________

Student ID__________________________________________

The exam consists of 8 questions worth 104 points on a total of 8 pages. It will be scored out of 100 points. The maximum score you may receive is 100 points.


1. _____/16

1. _____/20

1. _____/20

1. _____/12

1. _____/16

1. _____/8

1. _____/8

8. ______/4 bonus






Total: 



Regrading:  All requests for regrades must be submitted in writing within 48 hours of the return of the exam.  You must explicitly state what has been misgraded and why it is an error.  The entire exam will be regraded, which could result in points being added or deducted overall.







1. (16pts) Predict the ONE predominant mechanism (SN1,SN2, E1, or E2) for each of the following reactions.  Based on the mechanism you chose, draw the structures of the major product(s) in the box.






2. (20pts)  Predict the major product(s) of 5 of the following 6 reactions. Be sure to include proper stereochemistry.  Put an “X” in the box you do not want graded, or else the first 5 will be graded.



3. (20pts) Provide the reagents or starting materials necessary for 5 of the following 6 reactions. .  Put an “X” in the box you do not want graded, or else the first 5 will be graded.



4. (12pts)  Provide an arrow mechanism for this reaction, including all intermediates.

















5. (16pts)  Provide all the reagents necessary for 2 of the following 3 multistep syntheses. Clearly mark the one you do not want graded with an “X” or the first two will be graded. You should draw intermediates along the pathway in order to get  partial credit even if the whole answer is not correct.









6. (8pts) Four possible products of this epoxide ring opening are given below. Underneath each product, explain whether it will form as a major product or a minor product, or if it will not form at all due to regioselectivity and/or stereospecificity of the mechanism.





7. (8pts)  Provide an arrow mechanism for this reaction, including all intermediates.
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8. (4pts bonus) Which of the following reactions that form cyclic ethers would be fastest, and which is slowest? Explain.
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